m#r : EAB29EG-10
% : M10 x1.5 N\ R4y T3ARHE(HSS)

AR FE A% 6,310 (#%1k) .~ 6,941 (Ftid)

g“’jﬁ 6,310 (Bik) /6,941 F(BIA)
EE =HEE: 2 (2025/08/02 17:08IR7E)
A 1 BRFEE L #
jfg':\'? 0937R—
=
:
i
<tvhHRBE> 3&#
I :M10X1.5(5E)
M :M10X1.5 ()
IE:M10X1.5(ft L)
mE HSS 2R 75mm
(W)1E 5.5mm Het S5 IRfFOP
RSP
£ BV 18441.5P
puinvgdclly v WG ERER AWM. H%.Y TR 8.6mm (&%)
9IS . TILIZIAE R 0E
iy
JIS I &
WwERL
HARHLTRO

KIRFARTEXFH4TE14E125  06-6532-6226 (fKFK)
© 2018 ESCO Co.,Ltd.



	仕様

